MathOO1D  Line Integrals

1. Find the work done by the force field F(X,¥) = <—x::xy> on a particle that moves
once around the circle X~ + ¥° =4 counterclockwise.

2. Show that rz.r}’:d‘c +2x ydv is independent of the path, then evaluate the integral.
Where C is the path from (0.0) to (2,-1)

3. Tlea (iraen’e thanram tg evaluate the line integral along the given path.
| : rdr 4xy d‘p C is the vertices of the triangle (0,0), (1,3), (0,3).

4. Determine if the vector field is conservative. If it is conservative, find a function f* such
that F=Vf
)  F(x,y)={yz,xz,xp)

b) F(X,¥,Z) = {3,{}3::{3 + 2:.,.-:}_.:>

5. Evaluate

[ydx + 2xydy, where C is the curve is the line from (1,1) to (5,3).
i
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6. Evaluate | Fedr where F(x,y) = ( xe* —2,sin }-‘}
and C is the portion of the parabola ¥ =x", from (-2.4) to (2.4)



